a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

=
o
N

G(0 X) (um)

H
o
a(0 x) tor merged vertices (um)

1.UD!

DT | T

20 15 =10 -5 0 & 0¥ =I5 =10 50 5 10 15 20 B0 -15-10 5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)
éIVI V000 _RO0000000T__Giobal__cmssw1000tme _RECO

Ratio
Ratio

M_\V0001_R000000001 —Global _mkFitNewOLD1000time__ RECO
M—V0001~R000000001—Global—mkFitOLD-checkDet RECO

il

o(0y) (um)

0(0 y) tor merged vertices (Um)

E B p 9o o _'
Losf-- & g ¢t
| R R +1 =1 JoRREEEREEY R S L EE: R L R R EEED
0.95fF - -+ +irem koo fil R e 2o oo : oo S | T
B S BB A 1 1 1 ! RS P DU 5! UL S A 1S S ogslemi i p
=20 -15-10 -5 0 5 10 15 20 =20 -15-10 -5 0 5 10 15 20 =20 -15-10 -5 0 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)

10°E

0(0 z) (M)

10°E :
) 102 o5

0(0 z) tor merged vertices (Um)

1.2f

___________________ R et - 7= S TSI

£ TR

—
J
Ratio
o
[{e}
[SLINY
T
]
T ——
L ——
g
iyt
1
Ratio
|
. o
. *
+

ST, | 1 S 1! e ORI T | S N T A SRS NN I DU S SO N
0-15-10 -5 0 5 10 15 20 =20 -15-10 -5 0 5 10 15 20 02015 -10 -5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

0.l

2



	Contents
	Page 1


